AN St=ESE
HE: oI BN MATH HE(STHYSM/SY - 5E)

ol A= S 4u EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
sStEEE 12,664,361 14,192,506 1,528,145

= 5,222,752
= 7,441,609
OHE A BN AN Y (sHHLri/5 - 5F) 11,235,040 12,983,669 N1,748,629
= 5,222,752
= 6,012,288
SHE SESA 4ot 963,910 951,855 12,095
= 472,752
=S 491,158
St ot 491,158 474,345 16,813
101 @124H| 288,262 283,060 5,202
M ORINZZE2NSE S 288,262 283,060 5,202
OSXAtest el2it| 288,262
201 fer23y| 100,49% 86,669 13,827
01 AtR2te|HI 50,99 37,169 13,827
O&J| - AN S MAUHNEH S S 36,5%
OSTHAHH S (HI LTI =) 14,000
O32A U=l 400
02 s5=4g4l 49,500 49,500 0
oxtg & sIIH #2l, =FUl S 49,500
202 04dl 10,000 12,216 N2,216
01 2L AL 10,000 12,216 A2,216
OB Ardat =0 10,000
204 MRoeAH| 8,400 8,400
2 SELREH 8,400 8,400
otiel sl 50,0002 x14E 128 8,400
206 M=l 84,000 84,000
01 MHZH| 84,000 84,000
OsTHH F& (B8l & sSXM S) 84,000
AT & ATYNH N (FD-BSEY) 472,752 477,510 4,758
= 472,752
101 @124H| 365,320 347,760 7,560
= 365,320
04 JIZtN2Z2 XS 365,320 347,760 7,560
OASHL 355,320
= 365,320
201 fer23y| 13,000 3,000 10,000
= 13,000
01 At22telt] 13,000 3,000 10,000
OxE Xtz 13,000
= 13,000
206 M=H| 104,432 126,750 N22,318
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SN SMBREE
A oA BA A Y (sEilLsi/sY - 5E)
ol A= S 4u EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 104,432
01 M=4l 104,432 126,750 N22,318
OEldl, sAtM S 104,432
= 104,432
2 A SYEEEAS DXl 9,857,948 9,865,078 A7,130
= 4,750,000
& 5,107,948
2 2 23EMY =T 284,900 282,400 2,500
101 21A4H| 208,900 210,000 1,100
04 JIZtN2 2N SE+ 208,900 210,000 21,100
OTAIZEXE Aok O12H| 208,900
201 =3 33,000 30,000 3,000
01 At22telt] 33,000 30,000 3,000
OFAI2SAE it E 33,000
202 04l 3,000 2,400 600
01 =LHA LI 3,000 2,400 600
Ogd & 2EAY A 3,000
206 MH=H| 40,000 40,000
01 M=4l 40,000 40,000
OTTHN, =38L(R2F, HIg), &EHl S 40,000
SM2S D= 2 W= 73,048 82,678 29,630
101 eI124d| 43,048 41,678 1,370
M ORNZZ2NSE S 43,048 41,678 1,370
OZAMEZE AISE 212 43,048
201 er2 3| 10,000 21,000 A11,000
01 At2teltl 10,000 21,000 211,000
OFAIZE Jl=E WS Wit 5,000
ORESHZUHINZAE DIM=E, S=5
A2 5,000
206 M=H| 20,000 20,000
01 M= HI 20,000 20,000
OXSHZNMASNZANE XMl Al 10,000
OJl=HEE Al 10,000
2E4 HEEX ZHAE(21) 9,500,000 9,500,000 0
= 4,750,000
[ 4,750,000
403 MR EHMSAHE01H 9,500,000 9,500,000 0
= 4,750,000
= 4,750,000
02 SVI2S0 U H=E 2 EAIEI 9,500,000 9,500,000 0
o2 4 HEHX 2= 9,500,000
= 4,750,000
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AN St=ESE
B OLEE AN AT B (SHHSSN/ S - SE)
el 2 2 SH2SAE IRt d (Gt M)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
| | & 4,750,000
A B2 213,182 90,000 123,182
A= X2t 125,090 90,000 35,090
101 el24d| 13,853 0 13,853
M ORNZZ2NSE S 13,853 0 13,853
OFA 0133 24 13,853
201 er23| 11,237 90,000 21,237
01 At2tltl 17,237 0 17,237
o=uAaYg 24 Xd 17,237
02 S3=gl 94,000 90,000 4,000
Os&ER= & =Rl S FAES 94,000
SHEZ AIRS EHSA 88,002 88,092
401 AlZHIZ S 0HbI 88,002 88,092
01 AlZ28| 88,002 88,092
CEIAL EHSA 88,002
FEY 01 ZdAY 200,000 2,076,736 1,876,736
SHEAELE SEZA 200,000 0 200,000
401 Al HIZL 201 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O0l8Ad ALY dESA 200,000
HH2LIH(SLSASH) (OIEH/IIE) 1,269,321 1,208,837 60,484
el 2E| 1,233,004 1,172,870 60, 194
SR& 2lAad X 1,125,364 1,085,259 40,105
101 e124d| 1,125,364 1,085,259 40,105
01 2= 1,125,364 1,085,259 40,105
EP==) 882,800
O=1= 835,200
-ASH 264,000
=] 8,500,000 «1& 122 102,000
52 7,000,000 x1&~12& 84,000
A2 6,500,000& «1H 122 78,000
-ghy 571,200
65 4,500,000 «4H* 122 216,000
I 4,000,000 x5« 122 240,000
o= 3,000,000 «1&~12& 36,000
A A 3,300,000& «2& « 12 79,200
od2=+¢ 571,200,000&*1/12 47,600
o=x=g 101,589
Oliesa+d
25,000,000& 4. 1%~ 123 12,300
Og2+gitit= 14,400
-250( & 130,000 =3+ 122 4,680
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SN SUEREE
. HY2IAU(SASASE)(JIEHIIE
S RRIEESS(T (SHol: &2)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
-20~25E 0| Bt 110,000& x4 H =123 5,280
-15~20&= 0] et 80,000 =2+ 12& 1,920
-10~15= 0| et 60,0003 *1H 123 720
-5~10A0] 2+ 50,0003 «3F 123 1,800
OJEsY 10,800
i BN 40,0002 =158+ 12& 7,200
-J|EHE 20,0002 15+ 123 3,600
ORlg2fsy 2,400
-9= 40,0003 x5F 123 2,400
OEgR2=g 12,960
Jl=d8EsY 3,600
52 50,0003« 1H 123 600
6=~7= 30,0003 *7F 123 2,520
8=2~9= 20,0003 x2H 123 480
D=8 E80H3 1,680
- J|A 30,0003 +3H 123 1,080
- AP DAL 20,0003 x2F 128 480
2HE 675 10,0002 x 18+ 12& 120
- 80,000 x3Y *12& 2,880
SR 100,000& x4 H 12 4,800
OAlIZte 2R+
11,6023 * 14«25 A 2H+ 12 48,729
OFAHZ A 140,000 x 15« 123 25,200
OFEFIHI
571,200,000 *1/12x60%*23] 57,120
OHHIE A 21,635
O¢SH(4=2) 280,000 *78%*86%+ 12 2,254
OdEH(52, H2722)
450, 0003 +84%+86%+ 12 3,901
Os=H 1,500, 000 *86%+ 12 15,480
OXZEXH| 37,020
@rT= 400,000 x 18+ 12& 4,800
Ob3 250,000 x2F *12& 6,000
O6= 185,000 x6H » 123 13,320
ors 180,000& x5 » 12 10,800
OL= 175,000 x1H 123 2,100
SEYSAHEA 22| L AR 107,700 87,611 20,089
101 e14d| %, 160 78,224 17,936
03 SRA(RINHL) 2224 %, 160 78,224 17,936
OpIE=t= 2,400,000& x2Z = 12& 57,600
o¥z2sY 2,400, 0003 *2H +x25%*23| 2,400
otz 70,0003 «2Y 123 1,680
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